Day 2_ Section 4.1 day 2.notebook March 17, 2017

Warm Up
Grade 9

Given the following t-table

i) Complete the table

ii) Describe a the pattern

iii) Write the equations and Expression

iv) Use your equation to determine how many circles would be
in figurFe 500.

C

Figlﬁe i #%ircles Pattern Eq UatIOHS
' B L 45 - +
:-I'((i(‘:) 2)4.5 3 _:3 X__,tl'-
&) _
HC Ay 45 3'—‘,5 x +1
Hor | s
H 2 A3y Expression
%. 22 Sx+2
$
500
\jz 5x + 2
lj: S(500) 1 2

\3; 2500 + L

Y= 250 %
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Try these
For(n = 2] solve for each of the following
"1)) P=5n +6 2) K = 4n-1 3) W=10n -5
5(2) +6
p= 10+6

A~

For(n = -5,'solve for each of the following
1) P =5n+6 (2)K = 4n-1 3) W= 10n - 5
K=4(-5)-1

K=-20-1
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4. In each equation, determine the value of P
when 1 = 1.
a) P=2nb) P=3nc¢) P=4n d) P = 5n

a) P= 2n b) P= 3n
P=2(1) P=3(1)
P=2 P=3

c) P=4n d) P=5n
P = 4(1) P=5(1)

P=4 P=5

March 17, 2017
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5. In each equation, determine the value of A

when(n = 2.;

a) A=3n+1 b) A=3n+2
A A=3n+3 d A=3n+4

a) A= 3n + 1 b) A=3n +2
A=3(2)+ 1 A=3(2)+2
A=6+1 A=6+2
A=7 A=8

C) A=3n+3 d) A=3n + 4
A=32)+3 A=3(2)+4
A=6+3 A=6+4

A=9 A=10
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|
6. In a table of values for a pattern, P = 3
when n = 1; which of the following

equations might represent the pattern?

a) P=3n by P=n+3
o P=2n+1 dP=3—n
a) P= 3n b) P=n+3
P =3(1) P=(1)+3
P=3 P=4
Works Doesn't Work
c) P=2n + 1 d) P=3-n
P=2(1)+ 1 P=3-1
P=2+1 P=2
P=3 Doesn't Work

Works
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.
7. The pattern in this table continues. Which

expression below represents the number of

squares in terms of the figure number?
8 o
Figure, f | Number of Squares, s
1 Q) 6
+l (2 O . ) 19
1 C 3 Q) B ) +1
110 40 g+
HE L) 10
a) 5f  b)2f lc} f+5 ]d)s—i—S

March 17, 2017
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8. This pattern of squares continues. Which @
equation below relates the number of

squares, 1, in a picture to the size number, s?
P
size (s) | # of squares , (n)

19 5
2 88 S Gl

Size 1 Size 2 Size 3 9 > +y
13

+I<
ayn=s+4 b) n = 4s 3&")

C n=45+TJl d) s = 4n 'HC )+L|
& 4 17

4= 2 ¢ A
OX

n= 20 s TH

——

AS

ﬁt%s +1
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9. The pattern in this table continues. Which g
equation below relates the number of

squares to the figure number?

X -—
Figure, f Numberuis:auares,s - iB_ x &

1(1) : AX

#1(, W L)+l S as o 4 4

4 (30_) g)+—3 s

+ C 4 11 )+

+| C5 13)4-; S:_Z;-F +_3

|

a) s=4f + 1 (b}5=2f+3,

s=f+2 df=2s+3




Day 2_ Section 4.1 day 2.notebook March 17, 2017

Equation

change output § (input) -+ #

change input

Output =

11
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Remember Connecting Cubes
MIGHT BE TOO HARD

SO Might remove

= s= -
[ | |\ \
[ | L\ L\ [ \

C
# of cubes # of faces exposed .

14) 6 ®

20 10 %Hf ®

+4

3 4 = +2

4 'S )ty 'F EI;—C

) ')_')_3-\'7

eb

106

12
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¥ A large water tower holds 15000 liters of watoN
however during the winter the water tower was
damaged and started to leak. This table shows
the amount of water every hour after it sprung the
leak. The level of water changes at a constant
rate.

Time (t hours) Amount (A4 Liters) |
0 Q 3 15000 | + S
= - oo
p ) 00 A 200 t +1500
: 1
, 14800 « _ 90
N 2 /
14 600
yd \ -
— ) wo
14 400
C N\
S )~ 100
14 200

i) Write anexpression for the amount in terms of the time since the water
tower began to leak.

—300t +1S 000

ii1) How much water is in the water tower after 10 hours?
A = -200 t +|500
f="-200T10) + L8O

R = -2000 + 15000
A =""1200

iv) When will the water tower be empty?

A = -2c0 t +1500

IS _ 15000
O=i—'zoot + lsooo
“lS00s = —2AgofE}

-2 00 -2%\0

=

35

13
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Homework Help Line? | need to have you ex|
dratic equation in roughly the of time
it takes to get a cup of coffes.”

“Uh, yeah,
the gt

A Math tutor charges $15.75 for each hour and a fixed cost of $8.00.

1) Write an equation that relates the cost to the hours hired

11) How much will a tutor cost for 4 hours?

.' -

14
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Must Show ALL WORK
11, 12, 14, 15, 16,

15
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